THE UNIVERSITY OF BRITISH COLUMBIA
Department of Electrical and Computer Engineering
EECE356 Quiz 4 — December 2, 2011
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Read and observe the following rules:
Candidates are not permitted to ask questions of the invigilalors, excepl in cases of
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be immediately dismissed from the examination and shall be liable to disciplinary action:
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examiners.

- Speaking or communicating with other candidates.

- Purposely exposing written papers to the view of other candidates.
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NOTE: NO PROGRAMMABLE CALCULATORS, NO CELLPHONES, NO
OTHER ELECTRONIC AIDS, NO NOTES, NO FORMULA SHEET and NO
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1. The op amp in figure | has an open-loop gain of 2x10° and a bandwidth of 20Hz. |
(a) ldentify the type of feedback for the circuit (for the input mixing node, and for ‘
the output, sampling node). Based on this compute the feedback network gain I

(b) Use feedback techniques to calculate the gain and bandwidth for the closed ,
loop configuration "
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2. Given the circuit in figure 2

4. Redraw the circuit such that to identify the type of feedback configuration,
and compute the feedback network gain .

b. Use feedback theory to compute the closed loop gain, considering that the
amplifier has an open loop gain A= 0°. (other types of computation will
not get any points)
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